
 

 

Modify the example at the end of section 9.9 as shown below 
 
 task y( int N ); do_n_wa

process job[1:N]; 
 

 for( int j = 1; j <= N; j++ ) 
  fork 
   automatic int k = j; 

begin job[k] = process::self(); ... ; end 
join_none 

 
 for( int j = 1; j <= N; j++ ) // wait for all processes to start 
  wait( job[j] != null );  
 
 job[1].await();     // wait for first process to finish  
 

for( int j = 1; j <= N; j++ ) begin 
if( job[j].status != process::FINISHED ) 

job[j].kill(); 
end 

 endtask 
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